AQ-Functional Equation in Paranormed Spaces

¹K. Ravi, ²J. M. Rassias ³R.Bhuvana Vijaya and ⁴R. Kodandan

¹Department of Mathematics, Sacred Heart College, Tirupattur – 635 601, TamilNadu, India

²National And Capodistrian University of Athens, Pedagogical Department E.E., Section of Mathematics and Informatics, 4, Agamemnonos St.,

Aghia Paraskevi, Athens, 15342, Greece

³Department of Mathematics, J.N.T.U.A College of Engineering, Anantapur-515 055, India

⁴Department of Mathematics, Sreenivasa Institute of Technology and Management Studies, Chittoor – 517 217, Andhra Pradesh

Abstract- In this paper, we introduce and investigate the general solution of a new AQ-functional equation

$$2a^{2}\left[f\left(\frac{x+y}{a}\right)+f\left(\frac{x-y}{a}\right)\right] = (1+a)\left[f(x+y)+f(x-y)\right] + (1-a)\left[f(-x+y)+f(-x-y)\right]$$

where $a \neq 0,\pm 1$ and discuss its Hyers-Ulam stability in paranormed spaces. **2000 Mathematical Subject**

Classification: Primary 39B52, 39B82, 39B72, 46A99.

Index Terms- Hyers- Ulam-Stability, Paranormed spaces, Additive-Quadratic functional Equation.

I. INTRODUCTION

Functional equations of various forms were dealt in the last three decades regressively by many authors [2, 5, 8, 9]. Ulam [13] raised a question concerning the stability of group homomorphism as follows :

Let G_1 be a group and let G_2 be a metric group with the metric d(...). Given $\varepsilon > 0$, does there exist a $\delta > 0$ such that if a $h: G_1 \to G_2$ satisfies the inequality $d(h(xy), h(x)h(y)) < \delta$ for all $x, y \in G_1$, then there exist a homomorphism $H: G_1 \to G_2$ with $d(h(x), H(x)) < \varepsilon$ for all $x \in G_1$?

When G_1 and G_2 are Banach spaces, D.H. Hyers [7]solved the above question for the case of approximately additive functions. Later Th.M.Rassias [10] given a generalized version of the theorem of Hyers for approximately linear mappings. Then many mathematicians like Z.Gajda [3], R.Ger [2], P.Gavruta [4], S. Czerwik [1] and J.M.Rassias [8] contributed a lot for the development of stability theory for various forms of functional equations . the functional equation f(x+y)+f(x-y)=2f(x)+2f(y)

is called quadratic functional equation because every solution of the quadratic functional equation is said to be a quadratic mapping. In the same way

$$f(2x+y)+f(2x-y) = 2f(x+y)+2f(x-y)+12f(x)$$
(1.1)
and
$$f(2x+y)+f(2x-y) = 4f(x+y)+4f(x-y)+24f(x)-6f(y)$$
(1.2)

are called cubic and quartic functional equations because $f(x) = x^3$ and $f(x) = x^4$ respectively satisfies the equations (1.1) and (1.2). Recently J. M. Rassias and H.M.Kim [9] investigated Generalized Hyers-Ulam stability for general additive functional equations in quasi- β -normed spaces, M.E. Gordji and M.B. Savad kouhi [6] studied the stability properties of a mixed type additive, quadratic and cubic functional equation

$$f(x+3y) + f(x-3y) = 9f(x+y) + 9f(x-y) - 16f(x)$$
(1.3)

in random normed spaces. Very recently, C.Park and J.R.Lee [11] proved some results on the Hyers-Ulam stability of an additivequadratic-cubic-quatraic functional equation

$$f(x+2y) + f(x-2y) = 4f(x+y) + 4f(x-y) - 6f(x) + f(2y) + f(-2y) - 4f(y) - 4f(-y)$$
(1.4)

in paranormed spaces.

In this paper, authors are interested in finding the solutions and some results on Hyers-Ulam stability of a new Additive-Quadratic functional equation

$$2a^{2}\left[f\left(\frac{x+y}{a}\right)+f\left(\frac{x-y}{a}\right)\right] = (1+a)\left[f(x+y)+f(x-y)\right]+(1-a)\left[f(-x+y)+f(-x-y)\right]$$

where $a \neq 0, \pm 1$, in paranormed spaces. We consider some basic concepts concerning Frechet spaces and paranormed spaces.

Definition 1.1 [13]

Let X be a vector space. A Paranorm $P: X \to [0, \infty)$ is a function on X such that P(0) = 0(i) P(-x) = P(x)(ii) $P(x+y) \le P(x) + P(y)$ (Triangle inequality) (iv) If $\{t_n\}$ is a sequence of scalars with $t_n \to t$ and $\{t_n\} \subset X$ with

$$P(x_n - x) \to 0, \text{ then } P(t_n x_n - tx) \to 0 \text{ (continuity of multiplication)}$$
$$(X, P)$$

The pair (X, F) is called a Paranormed space if P is a paranorm on X. The paranorm is called total if, in addition, we have $P(x) = 0 \Rightarrow x = 0$

A Frechet space is a total and complete paranormed space.

In this paper, we first discuss the solution of a new additive and quadratic functional equation :

$$2a^{2}\left[f\left(\frac{x+y}{a}\right)+f\left(\frac{x-y}{a}\right)\right] = (1+a)\left[f(x+y)+f(x-y)\right] + (1-a)\left[f(-x+y)+f(-x-y)\right]$$

(1.5)

with $a \neq 0,\pm 1$, then we investigated the Hyers-Ulam Stability of (1.5) in paranormed spaces

II. SOLUTION OF THE EQUATION (1.5)

In this Section, let E_1 and E_2 denote real vectors spaces, we will prove the following two Lemmas, which will be useful to prove our main theorems.

Lemma 2.1

If
$$f: E_1 \to E_2$$
 is an even function, satisfies equation (1.5) for all $x, y \in E_1$. Then f is quadratic.

Proof

Replacing
$$(x, y)_{by}(0, 0)_{in (1.5), we obtain}$$

 $f(0) = 0, \quad \forall x \in E_1.$

The function $f_{is even and therefore} f(-x) = f(x)_{for all} x \in E_1.$
(2.1)

The function J is even and the Equation (1.5) becomes ,

$$a^{2}\left[f\left(\frac{x+y}{a}\right)+f\left(\frac{x-y}{a}\right)\right] = f\left(x+y\right)+f\left(x-y\right), \quad \forall x, y \in E_{1}$$
(2.2)

Replacing $(x, y)_{by}(z, z)_{in (2.2), we arrive that}$

$$a^{2}f\left(\frac{2z}{a}\right) = f\left(2z\right), \qquad \forall z \in E_{1}$$

$$(2.3)$$

Replacing Z by $\frac{y}{2}$ in (2.3), we arrive that

$$a^{2}f\left(\frac{y}{a}\right) = f(y), \qquad \forall y \in E_{1}$$

$$(2.4)$$

Again, replacing $y_{\text{by}} ax_{\text{in (2.4)}}$, we obtain

$$f(ax) = a^2 f(x), \quad \forall x \in E_1$$
(2.5)

Therefore $f: E_1 \to E_2$ is quadratic.

Lemma 2.2

If $f: E_1 \to E_2$ be an odd function, satisfies equation (1.5) for all $x, y \in E_1$. Then f is additive.

Proof

The function
$$f$$
 is odd and therefore $f(-x) = -f(x)$ for all $x, y \in E_1$, Equation (1.5) becomes,
 $a\left[f\left(\frac{x+y}{a}\right) + f\left(\frac{x-y}{a}\right)\right] = f(x+y) + f(x-y), \quad \forall x, y \in E_1$ (2.6)

Replacing
$$(x, y)_{by}(z, z)_{in (2.6), using equation (2.1)}$$
 we arrive that
 $af\left(\frac{2z}{a}\right) = f(2z), \quad \forall z \in E_1$
(2.7)

Replacing z by $\overline{2}$ in (2.7), we arrive that

$$af\left(\frac{y}{a}\right) = f(y), \qquad \forall y \in E_1$$
 (2.8)

Again, replacing $y_{\text{by}} ax$ in (2.8), we obtain

$$f(ax) = a f(x), \quad \forall x \in E_1$$

$$Therefore \quad f: E_1 \to E_2 \text{ is additive }.$$

$$(2.9)$$

Theorem 2.3

A function $f: E_1 \to E_2$ satisfies equation (1.5) for all $x, y \in E_1$, if and only if there exists a symmetric bi-additive function $B: E_1 \times E_1 \to E_2$ and an additive function $A: E_1 \to E_2$ such that $f(x) = B(x, x) + A(x), \quad \forall x \in E_1$

Proof. Suppose there exists a symmetric bi-additive function $B: E_1 \times E_1 \to E_2$ and an additive function $A: E_1 \to E_2$ such that

$$f(x) = B(x, x) + A(x), \qquad \forall x \in E_1$$
(2.10)

then using (2.10), we obtain

$$f\left(\frac{x+y}{a}\right) = B\left(\frac{x+y}{a}, \frac{x-y}{a}\right) + A\left(\frac{x+y}{a}, \frac{x-y}{a}\right)$$
(2.11)

$$f\left(\frac{x-y}{a}\right) = B\left(\frac{x-y}{a}, \frac{x-y}{a}\right) + A\left(\frac{x-y}{a}, \frac{x-y}{a}\right)$$
(2.12)

for all
$$x, y \in E_1$$
.From (2.11) and (2.12), we obtain
 $a^2 \left[f\left(\frac{x+y}{a}\right) + f\left(\frac{x-y}{a}\right) \right] = a^2 \left[B\left(\frac{x+y}{a}, \frac{x+y}{a}\right) + A\left(\frac{x+y}{a}, \frac{x+y}{a}\right) \right]$
 $+ a^2 \left[B\left(\frac{x-y}{a}, \frac{x-y}{a}\right) + A\left(\frac{x-y}{a}, \frac{x-y}{a}\right) \right] (2.13)$

for all
$$x, y \in E_1$$
. Using properties of symmetric bi-additive function in (2.13), we arrive

$$2a^2 \left[f\left(\frac{x+y}{a}\right) + f\left(\frac{x-y}{a}\right) \right] = (1+a) \left[f(x+y) + f(x-y) \right] + (1-a) \left[f(-x+y) + f(-x-y) \right], \quad \forall x, y \in E_1$$

Hence the function satisfies (1.5).

$$f_e(x) = \frac{f(x) + f(-x)}{2}$$

Conversely, we decompose f into even part and the odd part by letting $f_0(x) = \frac{f(x) - f(-x)}{2}$

 $x \in E_{1}$. Replacing x by -x, y by -y in (1.5) and adding, subtracting the resultant equation with (1.5), we find that $f_{e}(x), f_{o}(x), x, y \in E_{1}$ satisfies

equation with (1.5), we find that $f_e(x) = 0$ satisfies (1.5). Hence by Lemma 2.1 and Lemma 2.2, we obtain that the functions $f_e(x)$ and $f_o(x)$ are quadratic and additive $B: E \times E \to E$ $f_e(x) = B(x, x)$

respectively. It shows that there exists a symmetric bi-additive function $B: E_1 \times E_1 \to E_2$ such that additive function $A: E_1 \to E_2$ such that $A(x) = f_o(x)$ and f(x) = B(x, x) + A(x), $\forall x \in E_1$.

III. HYERS - ULAM STABILITY OF THE FUNCTIONAL EQUATION (1.5) AN ODD MAPPING CASE

For a given mapping
$$f$$
, we define

$$Df(x, y) = 2a^{2} \left[f\left(\frac{x+y}{a}\right) + f\left(\frac{x-y}{a}\right) \right] - (1+a) \left[f(x+y) + f(x-y) \right] - (1-a) \left[f(-x+y) + f(-x-y) \right]$$

In this Section and section (4), we assume that (E_1, P) is a Frechet space and $(E_2, \|.\|)$ is a Banach space.

Theorem 3.1

Let r and θ be positive real numbers with r > 1, and let $f : E_2 \to E_1$ be an odd mapping such that $P[Df(x, y)] \le \theta(||x||^r + ||y||^r)$ (3.1)

for all $x, y \in E_2$. Then there exists a unique additive mapping $A: E_2 \to E_1$ such that

$$P\left[f(x) - A(x)\right] \le \frac{\theta}{2^r} \left[\frac{a^{r-1}}{a^r - a}\right] \|x\|^r \qquad \forall x \in E_2$$
(3.2)

Proof. Using oddness of f in (3.1), we obtain

$$\left\lfloor 2a^{2}\left(f\left(\frac{x+y}{a}\right)+f\left(\frac{x-y}{a}\right)\right)-2a\left(f\left(x+y\right)+f\left(x-y\right)\right)\right\rfloor \leq \theta\left(\left\|x\right\|^{r}+\left\|y\right\|^{r}\right)$$
(3.3)

for all
$$x, y \in E_2$$
. Replace $(x, y)_{\text{by}}(z, z)_{\text{in (3.3), we obtain}}$

$$P\left[2a^2f\left(\frac{2z}{a}\right) - 2af(2z)\right] \leq \theta 2 ||z||^r \quad \forall z \in E_2$$
(3.4)

Replace z by $\overline{2}$ in (3.4), we obtain

and

and an

5

$$P\left[f(x) - af\left(\frac{x}{a}\right)\right] \le \frac{\theta}{a2^r} \|x\|^r \qquad \forall x \in E_2$$
(3.5)

Hence

$$P\left[a^{u}f\left(\frac{x}{a^{u}}\right)-a^{v}f\left(\frac{x}{a^{v}}\right)\right] \leq \sum_{j=u}^{v-1} \frac{\theta a^{j-1}}{a^{rj}2^{r}} \|x\|^{r}, \quad \forall x \in E_{2}$$

$$(3.6)$$

For all non negative integers u and v with v > u and all $x \in E_2$. It follows from (3.6) that the sequence $\left\{ a^k f\left(\frac{x}{a^k}\right) \right\}$

is a Cauchy sequence for all $x \in E_2$, since E_1 is complete, the sequence $\left\{a^k f\left(\frac{x}{a^k}\right)\right\}$ converges for all $x \in E_2$. Now we define the mapping $A: E_2 \to E_1$ by

$$A(x) = \lim_{k \to \infty} a^k f\left(\frac{x}{a^k}\right), \qquad \forall x \in E_2.$$

by (3.1), we get

$$P\left[DA(x,y)\right] = \lim_{k \to \infty} P\left[a^{k}Df\left(\frac{x}{a^{k}}, \frac{y}{a^{k}}\right)\right]$$
$$\leq \lim_{k \to \infty} \frac{\theta}{a^{k(r+1)}} \left(\left\|x\right\|^{r} + \left\|y\right\|^{r}\right) = 0, \qquad \forall x, y \in E_{2}.$$

So DA(x, y) = 0. Since $f: E_2 \to E_1$ is odd, $A: E_2 \to E_1$ is odd. So the mapping $A: E_2 \to E_1$ is additive. Moreover, letting u = 0 and passing the limit $v \to \infty$ in (3.6), we arrive (3.2). So there exists an additive mapping $A: E_2 \to E_1$ satisfing (3.2). Now, let $A': E_2 \to E_1$ be another additive mapping satisfing (3.2). Then we have

$$P\left[A(x) - A'(x)\right] = P\left[a^{s}A\left(\frac{x}{a^{s}}\right) - a^{s}A'\left(\frac{x}{a^{s}}\right)\right]$$
$$\leq P\left[a^{s}\left(A\left(\frac{x}{a^{s}}\right) - g\left(\frac{x}{a^{s}}\right)\right)\right] + P\left[a^{s}\left(A'\left(\frac{x}{a^{s}}\right) - g\left(\frac{x}{a^{s}}\right)\right)\right]$$
$$\leq \left(\frac{a^{r-1}}{2^{r-1}(a^{r}-a)}\right)\left(\frac{\theta}{a^{s(r-1)}}\right) \|x\|^{r} \to 0 \quad as \quad s \to \infty$$

for all $x \in E_2$. So we can conclude that A(x) = A'(x), $\forall x \in E_2$. This proves the uniqueness of A. Thus the mapping $A: E_2 \to E_1$ is a unique additive mapping satisfying (3.2).

Corollary 3.2

Let r and θ be positive real numbers with $r \ge 1$, and let $f: E_2 \to E_1$ be an odd mapping such that

$$P[Df(x,y)] \leq \begin{cases} \theta(||x||^r ||y||^r), \\ \theta(||x||^{2r} + ||y||^{2r} + ||x||^r ||y||^r), \end{cases}$$

for all $x, y \in E_2$. Then there exists a unique additive mappings $A: E_2 \to E_1$ satisfying

$$P\left[f(x) - A(x)\right] \leq \begin{cases} \lambda_1 \|x\|^{2r}, \\ 3\lambda_1 \|x\|^{2r}, \end{cases}$$
$$\lambda_1 = \frac{\theta a^{2r-1}}{2^{2r+1} (a^{2r} - a)}, \text{ for all } x \in E_2. \end{cases}$$

where

Theorem 3.3

Let *r* be positive real numbers with r < 1, and let $f: E_1 \to E_2$ be an odd mapping such that $\|Df(x, y)\| \le P(x)^r + P(y)^r \quad \forall x, y \in E_1.$ (3.7)

Then there exists a unique additive mapping $A: E_1 \to E_2$ such that

$$||f(x) - A(x)|| \le \frac{1}{a - a^r} \left(\frac{a}{2}\right)^r P(x)^r, \quad \forall x \in E_1$$
 (3.8)

Proof. Using oddness of f in (3.7), we obtain

$$\left\| 2a^{2} \left(f\left(\frac{x+y}{a}\right) + f\left(\frac{x-y}{a}\right) \right) - 2a \left(f\left(x+y\right) + f\left(x-y\right) \right) \right\|$$

$$\leq P(x)^{r} + P(y)^{r}, \quad \forall x, y \in E_{1}$$
(3.9)

Replace
$$\begin{pmatrix} x, y \end{pmatrix}_{\text{by}} \begin{pmatrix} z, z \end{pmatrix}_{\text{in (3.9), we obtain}} \\ \left\| 2a^2 f\left(\frac{2z}{a}\right) - 2a f\left(2z\right) \right\| \le 2P(z)^r, \quad \forall z \in E_1$$

$$(3.10)$$

Replace z by $\frac{y}{2}$ in (3.10), we obtain

$$\left\|af\left(\frac{y}{a}\right) - f\left(y\right)\right\| \leq \frac{1}{a2^{r}}P(y)^{r} \quad , \quad \forall y \in E_{1}$$

$$(3.11)$$

Again, replacing $y_{by} ax$ in (3.11), we obtain

$$\left\|f\left(x\right) - \frac{1}{a}f\left(ax\right)\right\| \leq \frac{a^{r}1}{a^{2}2^{r}}P\left(x\right)^{r} \qquad \forall x \in E_{1}$$

$$(3.12)$$

$$\left\|\frac{1}{a^{u}}f\left(a^{u}x\right) - \frac{1}{a^{v}}f\left(a^{v}x\right)\right\| \leq \sum_{j=u}^{v-1} \frac{a^{r(j+1)}}{a^{j+2}2^{r}} \|x\|^{r}, \quad \forall x \in E_{1}$$
(3.13)

Hence

For all non negative integers u and v with v > u and all $x \in E_1$. It follows from (3.12) that the sequence $\left\{\frac{1}{a^k}f\left(a^kx\right)\right\}_{is a \text{ Cauchy sequence for all } x \in E_1$, since E_2 is complete, the sequence $\left\{\frac{1}{a^k}f\left(a^kx\right)\right\}_{converges for all } x \in E_1$. Now we define the mapping $A: E_1 \to E_2$ by

$$A(x) = \lim_{k \to \infty} \frac{1}{a^k} f(a^k x), \qquad \forall x \in E_1.$$

by (3.7), we get

$$\begin{aligned} \left\| DA(x,y) \right\| &= \lim_{k \to \infty} \left\| \frac{1}{a^k} Df\left(a^k x, a^k y\right) \right\| \\ &\leq \lim_{k \to \infty} \frac{1}{a^{k(1-r)}} \left(P(x)^r + P(y)^r \right) = 0, \qquad \forall x, y \in E_1. \end{aligned}$$

So DA(x, y) = 0. Since $f: E_1 \to E_2$ is odd, $A: E_1 \to E_2$ is odd. So the mapping $A: E_1 \to E_2$ is additive. Moreover, letting u = 0 and passing the limit $v \to \infty$ in (3.12), we arrive (3.8). So there exists an additive mapping $A: E_1 \to E_2$ satisfing (3.8). Now, let $A': E_1 \to E_2$ be another additive mapping satisfing (3.8). Then we have

$$\begin{split} \|A(x) - A'(x)\| &= \left\| \frac{1}{a^{s}} A(a^{s}x) - \frac{1}{a^{s}} A'(a^{s}x) \right\| \\ &\leq \left\| \frac{1}{a^{s}} (A(a^{s}x) - g(a^{s}x)) \right\| + \left\| \frac{1}{a^{s}} (A'(a^{s}x) - g(a^{s}x)) \right\| \\ &\leq \left(\frac{a^{r}}{2^{r-1} (a^{s(1-r)-r} (a-a^{r}))} \right) P(x)^{r} \to 0 \quad as \quad s \to \infty \end{split}$$

for all $x \in E_1$. So we can conclude that A(x) = A'(x), $\forall x \in E_1$. This proves the uniqueness of A. Thus the mapping $A: E_1 \to E_2$ is a unique additive mapping satisfying (3.8).

Corollary 3.4

Let
$$r$$
 be positive real numbers with $r < \frac{1}{2}$, and let $f: E_1 \to E_2$ be an odd mapping such that
 $\|Df(x,y)\| \le \begin{cases} P(x)^r P(y)^r, \\ P(x)^{2r} + P(y)^{2r} + P(x)^r P(y)^r, \end{cases}$
all $x, y \in E_1$. Then there exists a unique additive mappings $A: E_1 \to E_2$ satisfying
 $\|f(x) - A(x)\| \le \begin{cases} \lambda_2 P(x)^{2r}, \\ 3\lambda_2 P(x)^{2r}, \end{cases}$
 $k_2 = \frac{1}{2^{2r+1}(a-a^{2r})}$, for all $x \in E_1$.

where

for

IV. HYERS - ULAM STABILITY OF THE FUNCTIONAL EQUATION (1.5) AN EVEN MAPPING CASE

In this Section, we prove Hyers-Ulam Stability of the functional equation Df(x, y) = 0 in paranormed spaces : an even mapping

Theorem 4.1

Let r and θ be positive real numbers with r > 2, and let $f: E_2 \to E_1$ be an even mapping satisfying (3.1). Then there exists a unique Quadratic mapping $Q: E_2 \to E_1$ such that

$$P\left[f(x) - Q(x)\right] \le \frac{\theta}{2^r} \left[\frac{a^r}{a^r - a^2}\right] \|x\|^r \quad , \quad \forall x \in E_2$$

Proof. Using evenness of f in (3.1), we obtain

$$P\left[2a^{2}\left(f\left(\frac{x+y}{a}\right)+f\left(\frac{x-y}{a}\right)\right)-2\left(f\left(x+y\right)+f\left(x-y\right)\right)\right] \leq \theta\left(\left\|x\right\|^{r}+\left\|y\right\|^{r}\right)$$
(4.1)
for all $x, y \in E_{2}$. Replace (x, y) by (z, z) in (4.1), we obtain
$$P\left[2a^{2}f\left(\frac{2z}{a}\right)-2f\left(2z\right)\right] \leq \theta 2\left\|z\right\|^{r}, \quad \forall z \in E_{2}$$
(4.2)

Ĵ

Replace z by $\overline{2}$ in (4.2), we obtain

$$P\left[f(x) - a^{2}f\left(\frac{x}{a}\right)\right] \leq \frac{\theta}{2^{r}} \|x\|^{r} , \qquad \forall x \in E_{2}$$

The rest of the proof is similar to the proof of theorem 3.1

Corollary 4.2

Let r and θ be positive real numbers with r > 1, and let $f: E_2 \to E_1$ be an even mapping such that

$$P[Df(x,y)] \leq \begin{cases} \theta(||x||^{r} ||y||^{r}), \\ \theta(||x||^{2r} + ||y||^{2r} + ||x||^{r} ||y||^{r}), \end{cases}$$

for all $x, y \in E_2$. Then there exists a unique quadratic mappings $Q: E_2 \to E_1$ satisfying

$$P\left[f(x) - A(x)\right] \leq \begin{cases} \lambda_3 \|x\|^{2r}, \\ 3\lambda_3 \|x\|^{2r}, \end{cases}$$
$$\lambda_3 = \frac{\theta a^{2r}}{2^{2r+1} \left(a^{2r} - a^2\right)}, \text{ for all } x \in E_2.\end{cases}$$

where

Theorem 4.3

Let r be positive real numbers with r < 2, and let $f: E_1 \to E_2$ be an even mapping satisfying (3.7) Then there exists a unique quadratic mapping $Q: E_1 \to E_2$ such that

$$\left\|f\left(x\right)-Q\left(x\right)\right\| \leq \frac{1}{a^{2}-a^{r}}\left(\frac{a}{2}\right)^{r}P\left(x\right)^{r}, \quad \forall x \in E_{1}$$

Proof. Using evenness of f in (3.7), we obtain

$$\left\| 2a^{2} \left(f\left(\frac{x+y}{a}\right) + f\left(\frac{x-y}{a}\right) \right) - 2 \left(f\left(x+y\right) + f\left(x-y\right) \right) \right\|$$

$$\leq P(x)^{r} + P(y)^{r}, \quad \forall x, y \in E_{1}$$
(4.3)

Replace (x, y) by (z, z) in (4.3), we obtain $\left\| 2a^2 f\left(\frac{2z}{a}\right) - 2f(2z) \right\|$

$$2a^{2}f\left(\frac{2z}{a}\right) - 2f\left(2z\right) \parallel \leq 2P(z)^{r} \quad \forall z \in E_{1}$$

$$(4.4)$$

Replace Z by $\frac{y}{2}$ in (4.4), we obtain

$$\left\|a^{2}f\left(\frac{y}{a}\right)-f\left(y\right)\right\| \leq \frac{1}{2^{r}}P\left(y\right)^{r} \qquad \forall y \in E_{1}$$

$$(4.5)$$

Again, replacing $y_{\text{by}} ax$ in (4.5), we obtain

$$\left\|f\left(x\right) - \frac{1}{a^{2}}f\left(ax\right)\right\| \leq \frac{1}{a^{2-r}2^{r}}P\left(x\right)^{r} \qquad \forall x \in E_{1}$$

The rest of the proof is similar to the proof of theorem 3.2

Corollary 4.4

Let *r* be positive real numbers with r < 1, and let $f: E_1 \to E_2$ be an even mapping such that $\|Df(x, y)\| \leq \begin{cases} P(x)^r P(y)^r, \\ P(x)^{2r} + P(y)^{2r} + P(x)^r P(y)^r, \end{cases}$

for all $x, y \in E_1$. Then there exists a unique quadratic mappings $Q: E_1 \to E_2$ satisfying

$$\left\| f(x) - Q(x) \right\| \leq \begin{cases} \lambda_4 P(x)^{2r}, \\ 3\lambda_4 P(x)^{2r}, \end{cases}$$

$$\lambda_4 = \frac{a^{2r}}{2^{2r+1} \left(a^2 - a^{2r}\right)}, \text{ for all } x \in E_1$$

whe

Theorem 4.5

Let r be positive real numbers with r > 2, and let $f: E_2 \to E_1$ be a mapping satisfying (3.1). Then there exists a unique we mapping $A: E_2 \to E_1$ and quadratic mapping $Q: E_2 \to E_1$ such that additive mapping

$$P\left[f(x)-A(x)-Q(x)\right] \leq \theta\left(\frac{a}{2}\right)^{r} \left[\frac{1}{a(a^{r}-1)}+\frac{1}{a^{r}-a^{2}}\right] \|x\|^{r} \qquad \forall x \in E_{2}.$$

Theorem 4.6

Let r be positive real numbers with r < 1, and let $f: E_1 \to E_2$ be a mapping satisfying (3.7) Then there exists a unique additive mapping $A: E_1 \to E_2$ and quadratic mapping $Q: E_1 \to E_2$ such that

$$\left\|f(x) - A(x) - Q(x)\right\| \le \frac{2}{a - a^r} \left(\frac{a}{2}\right)^r P(x)^r, \quad \forall x \in E_1$$

REFERENCES

- [1] S. Czerwik, On the stability of the quadratic mappings in normed spaces}, Abh. Math. Sem. Univ. Hamburg. 62 (1992), 59-64.
- [2] Z. Gajda and R. Ger, Subadditive multiplications and Hyers-Ulam stability, in: General enequalities, Vol. 5, in: Internet. Schriftenreiche number. Math., vol.80, Birkhauser, Basel-Boston, MA, 1987 approximately additive mappings, J. Math. Anal. Appl. 184 (1994), 431-436.
- [3] Z. Gajda On the stability of the additive mappings, Int. J. Math. Sci. 14 (1991) 431-434.
- [4] Z. Gavruta, A generalization of Hyers-Ulam-Rassias stability of approximately additive mappings, J.Math. Anal. Appl. 184(1994) 431-436.
- [5] M.E.Gordji, H.Azadi kenary, H.Reazei, Y.W.Lee and G.H.Kim, Solution and Hyers-Ulam-Rassias Stability of Generalized mixed type additive and quadratic functional equations in Fuzzy Banach spaces, Abstract and Applied Analysis, vol 2012, Artical ID953938, doi:10.1155/2012/22 pages.
- [6] M.E.Gordji and M.B.Savadkouhi, Stability of mixed type additive, quadratic and cubic functional equations in Random Normed spaces, Filmat 25:3(2011), 43-54 DOI:10:2298/FIL1103043G.
- [7] D.H. Hyers, On the stability of the linear functional equation, Proc. Nat. Acad. Sci., U.S.A., 27 (1941) 222-224.
- [8] J.M. Rassias, Asymtotic behiver of alternative Jensen and Jensentype functional equations, Bull.Sci. Math. 129(2005) 545-558.
- [9] J.M. Rassias and H.M.Kim, A generalized Hyers-Ulam-Rassias stability of general additive functional equations in quasi-β-normed spaces, Journal of Math.Anal. 356(2009) 302-309.
- [10] Th.M. Rassias, On the stability of the linear mapping in Banachspaces, Proc. Amer. Math. Soc. 72 (1978), 297-300.
- [11] Choonkil Park and Jung Rye Lee, An AQCQ-functional equation in paranormed spaces, Advances in Difference Equation 2012, 2012:63.
- [12] S.M. Ulam, A collection of mathematical Problems, Interscience, New York. (1960) .
- [13] S.M. Ulam, Problems in Modern Mathematics, Vol. VI, wiley-Interscience, New York, 1964.
- [14] Wilansky, A Modern methods in Topoligical vector space, MC. Graw-Hill International Book co, New York (1978)

AUTHORS

First Author – K. Ravi , Department of Mathematics, Sacred Heart College, Tirupattur – 635 601, TamilNadu, India, e.mail: shckravi@yahoo.co.in

Second Author – J. M. Rassias., National And Capodistrian University of Athens, Pedagogical Department E.E., Section of Mathematics and Informatics, 4, Agamemnonos St., Aghia Paraskevi, Athens, 15342, Greece, e-mail: jrassias@tellas.gr Third Author – R.Bhuvana Vijaya, Department of Mathematics, J.N.T.U.A College of Engineering, Anantapur-515 055, India, e.mail: bhuvanarachamalla@gmail.com.

Fourth Author – R. Kodandan, Department of Mathematics, Sreenivasa Institute of Technology and Management Studies, Chittoor – 517 217, Andhra Pradesh e.mail: Rkodandan1979@rediffmail.com.